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TEST 1 (% %)

1. What is that we have in December but we don’t have in any other month?

[The letter D.] EtIS{HHE ‘WIS pEligE ‘D" XT38,
January (— B), February (ZB), March (= 8), Apri (F1 8), May
(RA), June RAB), Juy (£ A), August (/\A), September (HLA), o
October (+8), November (+—8), December (+_8).

2. What is found in the center of Australia and America?
[The letter R.]I“Australia” ] “America” - ™MINPEIZHBEIE “R”.

3. We are little babies of a big family. We live in lakes, rivers and seas. When
it is hot, we go up into the sky. When it is cold, we come down again. We
help plants grow fast. We keep men and animals alive. What are we?

(Vater. ] MEDRBIBVT T G808, RIR KA, IR MBS AL
FEbels “Water”,

4. 1T am suspended in the air, I touch nothing, and I am surrounded by lights.
Now I dress myself afresh, and now I am naked, and I am in the heat and
the cold, by night and by day. Everyone amuses himself by tramping upon
me, even the animals abuse and scorn me, and yet I have such treasures
hidden in m)" bosom that he who finds them I can make full of happiness.
What am I?

[The Earth.) X TIENBSEZEFTEBHE=G Everyone amuses himself
by tramping upon me. Tramp upon YSW “f£--- H{TE". XE&EN
BERE ‘BEAZD, BARSEHOUIREAR, B AN SE., BNRE LHK
(B, BB —4FEF (%) . BRABRIANS. AXRERNB LEX
EEFHRFR, EEMEIMESEEFRNEK. BEBENSHREEREE
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ANE®, WREABRBEBREIFES/. BILILALEREIE "MK,

5. How do we know the ocean is friendly?

[Because it waves.] @A T XK B, wave BEg 15 KiEEY “BiEik
R, 1008 “EFNE"., NBEEFNE, LR “&/E% (friendly) ”,

6. What stays hot even if put in a refrigerator?

[Pepper (EHH / IRHR) .1 GBI / BB ARBPIDRBRE, hot BERA
LEEA R

7. 1learned calculus ( fi{#4) ) in college, but it’s all Greek to me now.
In the above sentence, “it’s all Greek to me” means “ ?,

[completely incomprehensible) M EFFEEA “BRAEANAZS THERD,
BIAEMRDERFBEES . SRIBEFAAR—PIERHESNES, BT
It’s all Greek to me XTOEBHHNRABHE “B—BFE.TEFE".

8. Mary polished the apple at work because she wanted a day off.
Here “polish the apple” means “ »,

[please someonel %@qﬁl'@g—l{%‘j\j “f%mEEIf’ECPWﬂN%%W,Xﬂ@?@\
BE-RR.” T A E. ZEATHBEZINEERERNNR A EREZID
BAERSK £, X—IBEIMTPXUETIR . |A “ESHEK. NG,

9. Which bird is the odd one out ( S5HABANIN) ) : finch (£ ), gull (IR ),
eagle ( /% ), ostrich ( 81 ), sparrow ( k& )?

[Ostrich.] SESBRXEEEPME—F= Y, IS ENEFRE.

10. Among the following words, which is the odd one out: Moon, Mercury,
Venus, Mars, Jupiter, Saturn?

(Hoon.] BREHIRE “DE",MXKE . F2 N8 AL LE2FER 1787,

11. What item of clothing is suggested by the following?

=
A D
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[Head square.)*ZABILM”. FEE—THIE. RBSEA8E sauare X
T, MIERES head X TE1T, ASHKFE head square,

12. What in the night sky is suggested by the following picture?

*

[North Star.] VISRULE), 22 (star) EFKILL (north) , BILHIER
ZPRE “North Star” JURE, e

13. If “FRTZZ?” is the code for “ESSAY”, what is the code for “PAPER”?

[070DS) X B —EmiD@iod. D “WAZRN™ A

E (P S (A) s ™ A (B) Y (R)
wmOME | B—TF8 | T8 | B—T8 | f—1T%8 | 618
F Q) R (2) T (@ z (D) Z (S)

BRBIRK “ESSAY” 5 “FRTZZ”™ &y “KIBXY RN ™ B: ESSAY P
NEFEDNSFERP ‘B—TFH.A—TFE.6—TF8./A—T
FH. B—TFH" BWNUSE FRTZZ, {KILER “PAPER” IRIEA
“QzQDSs”,

14. If the code for VEGETABLE is 938316253, the code 265531 stands for the

word
[BALLET]
= 9 3 8 3 1 6 2
WG Vv E G E T A B8 L E

R\ “WF" M “FH” B——WURARTA, 2HFTB, 6 AT A, SAK
L, 3HARE, 1 {3 T.[RIIt 265531 {{REF BALLET, -
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15.

16.

17.

18.

19.

20.

Find the missing number.
7,9,8,10,9, ?

(11— = AU EOBIKRA 7, 8, 9; F_ MU NIE EBEBURRA
9,10, 11,

Can you find the number which comes next in this sequence?
2,3,5,8,13,21, 34, 2

(551 MEB=THIFE, ‘BTN (2 “‘AIBR THZ240". 80
2+3=5,3+5=8,5+8=13,8+13=21, 21 +34 =55,

Jeff likes 25 but not 24; he likes 400 but not 300; he likes 144 but not 145.
Which of the following does he like?

A. 10 B. 50 C. 124 D. 200 E. 1600
(E] AXEBRFIS2EELEE, 25="5, 400=20°, 144 = 12°, RIAIEIR
o, )L 1 600,874 1 600 = 407,

How many different arrangements can you make of all the seven letters in
the word COMBINE?

[5000.] X B —THIASHGFE7TTZH), BI: 71 (B P)) =7 x
6x5x%x4x3x%x2x1=5040,

At the end of a banquet ( 2% ) 10 people shake hands with each other. How
many handshakes will there be in total?

[L5. ] 10 D ANBIIBEFEY, SRHE 9 +8+7+6+5+4+3+2+1 =45,

A farmer has a field containing a certain number of pigs and hens.
Between them they have 36 heads and 100 feet. How many pigs and hens
does the farmer have?

[14 pigs and 22 hens.) BRIGE x K%, y R, MBLTBLUTHEA:
x+y= 36, 4x + 2y =100, BRI SIRETT x=14, y=22,
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TEST 2

. What is the difference between here and there?

. What always comes at the end of Christmas Day?

. My first is in ACT but not in PLAY.

My second is in APRIL but not in MAY.

My third is in NOBLE and also in LORD.

My fourth is in CARD but not in BOAD.

My last is in STACK but not in HAY.

You look at me every single day.

What am |7

. My first is in MOCK but not in FAKE.

My second is in BOIL but not in BAKE.

My third is in ROCK and also in ROLL.

My fourth is in WINDOW but not in POLE.

My last is in BASIN but not in BATH.

| do tricks to make chidren laugh.

What am |7

. Why is 10 x 10=1000 like your left eye?

. James trudges off to school each morning with his books but he
rarely does homework, and he doesn’t take any tests. There
are 36 chidren in his class and 35 of them are good students.’
Why does James never get into trouble?

. What wel-known phrase is suggested by the word picture below?
ARREST

YOU’'RE

. What wel-known phrase is suggested by the folowing word
picture?




14.

15.

17

11.

248

FBYEBENZZRIE 1000 A

STAND
|
What is the next number in this series: 18, 46, 94, 63, 52,
?

What is the next number in the folowing sequence: 1, 2, 3, 5,

8, 13, 7
In 10 years the ages of two brothers and two sisters wil total
100. How much wil their ages total in 7 years?
A certain month has five Wednesdays and the third Saturday
is the 18th.
What is the date of the last Sunday of the month?
Change one letter in each of the folowing two words to
produce a wel-known phrase.
ALTER ALE

Which word does not logically belong to the list below?

glance, anchor, charge, casino, arcade
What’s the phrase that is represented by the picture?

L
@)
V
E

What is the minimum number of matches you can remove from
this diagram to leave just 2 sguares?

If the code for DREAMS is FQGZOR, what is the code for
SIZES?



18.

19.

20.

BB RIS 1000 1

The word PASTRY is 4XY6AT in code. What is the word in
code YB6XAB?

My garden has large trees. My garden has flowers which smell
lovely when in bloom. According to the two statements, which
of the folowing options must be true?

A. My garden doesn’t have any grass.

B. My garden has more trees than flowers.

C. My garden has scented flowers.

D. My garden has trees under which flowers are planted.

“My father catches the train to London every day. Often the
train is late.” According to the two statements, which of the
folowing options must be true?

A. My father’s train is often late.

B. My father is often late for the train.

C. The train to London is late every day.

D. The train from London is often late.

KEYS AND NOTES

. [ The letter T. ] 7 ThT b B , ) B2 33 BL™ A0 T8 L™ W43 7 144 DX, {EL 0 532 I ik

LI BRET R T .

. [ The letter Y. ] Christmas Day X MIERI AR BT EHE Y.
. [ CLOCK. )i i 5 — a) ifd “Fk A9 8 F /£ ACT FH AFE PLAY ", AT RE L C 5§ T;

PABCISHE , Fe T T LAFS H A B i) AN B A T RE DR SR . ME— T LIWTE RS =451 0,
% R4 O BE7E NOBLE M1 X 7E LORD H ., F/5—A42nmRKITty RN EREFNE
79,181 & K CLOCK.

. [ CLOWN. 4R#E )7 — I 45 58 2R, AR AR MERE T IF O B REIZ 2 /N 1L “clown” . 3@ i Bif

FARMEATHAE, TS FEHERT & 50, Bk, IEF A 584 CLOWN,

. [ Because it’s not right. | 8 [5] 5114 “10x 10 = 1 000" (G4 HR @%?KIE% ( not right ),

H right 2 “47" F1 “IEBR" M.

. [ Because James is a teacher. | James 43 K &8, AMEHE, ARSI ZiR, P 3 36 4254,



BHEBIRUN SIS 1000 7R

12.

13.

14.
15

16.

17

18.
19,

20.

35 AR (BB E IR A UL James Z2FE

. [ You’re under arrest. ] ¥l i f* YOU’RE 7F ARREST {4 i, i il 5 50 % .
. [ Tunderstand. ) Bl A+ #i4a] “I" 7E “STAND” F [, #% I understand..

[61 )E—FBHaRMEWRA . A AR BE, xf T, {0807 (0 -7 e — T
¥, 81, 64, 49, 36, 25, — VIR0 JIMhifif . ZER 16, HEE — FIT: 61

[ 21 J3X 5 RLH A AEE =R, B8 &2 “ATE AT B 142 =3,
2+3=5,3+5=8,5+8 =13, 8+13 =21,

. [88 years. ] 34 4 4N N BAE ARG K B EON 4, 3 FRYFIR IR B8O 120 100-12 =

88,

[ 26th. ) i T A % = A&7 A 18th, i fHESE—N 8 =i A 1st, g miE % A 85—
AJ8 H & TE 26th.

[ After all: B35 2455, AIIE T 14 alter th % 1 Beik £, ale H A e #e il 1, AT LATE 2N 1R after
all,

[ Casino ] A3 — A BLial o i Hoflh — ANl — | AN F AT — A Y rh [ R A B

[ Falling in love ) 5 HEHFAY LI Ay “love” . B B IEAE RS AYEA, (Rt [ BE 484 “Falling
in love"( 7  BA AZ ),

[ 8 JEMBIMAEN I, ZDHRE 8 AR A T

[ UHBDU ] 7 2 W 4 10) 15 9 5 22 6] A0 R AR 14 , B9 14 A7 07 B 7 7B 3k vh HETE 18] 1 AT 30
B (14 5 AL, T ) 8 5 o U 7 ) ) 1 B P B ) AT — 6, AR I AL T 5 1 SIZES
[ #f% 5 UHBDU,

[ START ) #4535 fh A B RS P O FRF RO XS RE K L , 7T IS S22 START.

[ C VBT Ry PG TP A KR, FRAERIBA L, BERE.” nTRHEH C “KIERH
HA SR JEIERR.

[ A )BT H PG “RIGEBRIRKFERCE . XA ] ARG Y 2eT5
A R EM K AL HEWR A" R IEBR AR R RARAY .
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TEST 3

What is at: The beginning of eternity

The end of time and space

The beginning of every end

And the end of every place?
Why is a river rich? Because
What part of a watch is always old?
| am a bird. But | have no heart. | don’t eat but | never die.
What am [?
My first is in LAMP but not in LIGHT.
My second is in MAY but not in MIGHT.
My third is in DART and also in BOARD.
My fourth is in STRING but not in CORD.
My last is in SEE but not in GLANCE.
| am a city renowned for romance.
Where am [?
When we studied the new theory more carefully we
discovered that it just didn’t hold water.
Here “hold water” means “____ 7.
Making kites is chid’s play. All of us can do it.
Here “chid’s play” means “____ 7.
Why should we never ask baloons for advice?
Rearrange the letters given and make one word that uses al
of the letters.

AACDDEINT

Which is the odd one out?
LUTIP, ONACRATIN, ONPYE, SORE, MEL

@



°

14.

15.

16.

17.

T2,
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A set dominoes (ZX1&) consists of rectangular (56FE8Y) tiles
each carrying two numbers from O to 6 which represented by
patterns of spots. Every possible pairing of numbers occurs
just once including each number with itself.

How many dominoes are there in a set?

A train traveling at a speed of 75 mph enters a tunnel 2.5-mie
long. The length of the train is 0.25 mie. How long does it
take for al of the train to pass through the tunnel, from the
moment the front enters to the moment the rear emerges?

A, 212" B. 315" C. 220" D. 3'30"

The cost of hiring a private rail carriage is shared equaly
by al the passengers who paid an exact number of pounds
which was less than £100 each. The carriage has seats for
50 passengers and the total bil amounts to £1887. How many
seats were not occupied?

76 =24

Correct this equation so that it makes sense by moving
the four given digits but without introducing any additional
mathematical symbols (HZEFE).

What number should replace the question mark?

2 25 o]
36 ?
6 [216] 3

Craig’s birthday is on 4th February. Toby’s birthday is one
week before Craig’s and three weeks before Frank’s. When
is Frank’s birthday? On

Benjamin went to the dentist on a Tuesday. He has two
further appointments for filings. One is ten days later; the
next is five days after the second appointment. On which day
of the week is the third appointment? On
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18. A clock gains 10 seconds every hour. If we adjust it to the
correct time, it is 5:30. And 24 hours later, what is the
correct time now?

19. “A reservoir is a lake that stores water for people to use.
Lake Windermere is in Cumbria.”

According to the two statements, which of the following
statements must be true?

A. Cumbria is a reservoir.

B. Lake Windermere is a reservoir.

C. People use Lake Windermere.

D. A reservoir provides water. é
E. In Cumbria, water is drunk.

20. “Eating sweets can damage your teeth. Eating sweets can
make you il.” According to the two statements, which of the
folowing statements must be true?

A. People who are il have bad teeth.

B. People with bad teeth have eaten too many sweets.
C. Eating sweets can damage your teeth or make you Iil.
D. People who are il have been eating too many sweets.

KEYS AND NOTES

1. [ The letter E. ] [K 5 “e” 4353 T 9% L 4L in) eternity Fl end A9 FF 3k, L3 547 F time,
space, place HI45 12 -

2. [ It always had two banks. J3SEFIF T ¥4~ 2 )i : rich, B “EE 1, E# 17 Fl bank, &
A “RRAT AR . BTLABERT LABRARE . A PR T e PN

3. [ Second hand. ) ik [ Hf 4 T 4~ i8] watch ( T-28 ) F1 old ( IH /Y ), 15 %6 4~ #B 48 5 (19 7] second
hand HRANER, BT M1 ZFR7,

4. [ Akite JREMR S L—HETER [ € B AR EAEM S L, HAWE NN, JIF LAk g s X5
kite.

5. [ Paris. ] Paris f 1 7 14F p FE8L10] lamp TP ASTE light 775 55 —A4N"FhF a 76508 may i AS



